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Practice Test 2 (continued)

18 A carvuse]l has o radius of 14 deen. What is
the circumberenas ol the carvusel (in o=t
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AB. Wheat is the solume of Ehe cubs bolow?
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1. Wil has & rectangular gaaden & fees long
b + beer wide. Fie is B Eera Sertion

I deen long by 4 feen wide e ohe old plor.
Whan willl the area of e enire garden bel
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17. A box of coclics mrcasures 5 inclees bong.
1.5 inches bagh, and 4 inches wide. VWhaa
in the totsl volume ol 4 boses ol cookices?
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1E8. In the Apure bolow, BIY and FXC are paralicl
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Which ol theee slalemicils is Ire
0 ADEF e AGEFM
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18, Lok o the triangles below. Whae clse
do you need b know B prove thet the

trismgles are congroont?
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